(i palicE

(I N7 R — LT TAITEE)
(Fn 44 3H 31RH)

Gz : 1)

£ H

NS H B RFERE

s R

AR

WERIS | ST

A=
=N

[ EPREDHR

1. JRENE PE
B4 - 1HA:
Z T
ENINESE
= FEARINA S
EN NN
eI
RAiTHA 2
B4
TEE2 T 4
SR
[ 3 i « FAK
ZIRREE
[ TH R
A MRS
R A
(FENIEE &)
ENIEIEE=ginke

RENE PE G E

2. [EEERE

(1) FEARMPE
+
P& A maES:

A PESTT

(2) FriE & PE
BRG] 24 & pE
) RN L PE

FrE B pEA T

(3) DML [E 7 % PE
=27
A I A
=2
Rl A L
P B
R P B O
T DOt o
i bt
—HRE A RE
T
EREINAKE
e TR 93
PratEse: (Bs:)
V72T
SR
RN RE
i Hiu e
BB A MRES
B AR

N

4,177,370
0

0
2,890,860
1,070,973
0

O O O O O O OO

A\ 74,223,155
0
23,265

4,177,370
0

0
2,890,860
1,070,973
0

O O O O O O OO

A\ 74,223,155
0
23,265

A 66,060,687

(=)

A 66,060,687

44,50

1,100,00

O O O OO OO OO OO O OO 0O~ O NO

29

44,50

1,100,00

O O OO O OO OO OO O OO 0o~ O NO




(i palicE

(I N7 R — LT TAITEE)
(Fn 44 3H 31RH)

(B 1)
B B N H R EESG] S EESGH EAN=F B EIESEES Gt
Z DO RES 1,144,511 0 0 0 1,144,511
& EEEA R 1,144,511 0 0 0 1,144,511
ERECLR A 64,916,176 0 0 0| A 64,916,176
T & & DHER
1. EhAE
XTI 0 0
B 0 0
KL 4 321,308 321,308
FR - 0 0
%4 0 0
sz 4 0 0
U 672,000 672,000
TEEBTHEV A 0 0
SIS 0 0
VEEPIR T 2 R I A4 0 0
N4 0 0
B 55144 3,203 A 641 A 2,562 0
IRz BB 0 0
RILHE B 0 0
TREh A E S 996,511 A 641 A 2,562 0 993,308
2. BEAE
FWIE A e 0 0
IBRRAA TS24 & 0 0
5 BB 7 51 Y 4 0 0
APBEPRAETED 42 0 0
% NMRRE4: 0 0
0
[ EAEAF 0 0 0 0 0
HIELE 996,511 A 641 A 2,562 0 993,308
I IE A PE D
( ) ( ) ( )
( ) ( ) ( )
1. 8@ IEME PE
] [ At Bh 4 0 0
52N SRR BL 42 0 0
R4 Bh 4 0 0
T4 0 0
FEE ERRMPEA F 0 0 0 0 0
OLREAME~OFTLH  ( ) ( ) ( )
OLEEGHE~DOTLH  ( ) ( ) ( )
2. —fRIEMRRAPE
0
— 5 IE M P A 60,474,804 A 4,427,246] A\ 1,007,434 0| A 65,909,484
— R PE SR A 60,474,804 A 4,427,246 A 1,007,434 0 A 65,909,484
OLREAME~OFTLH  ( ) ( ) ( )
OLEEGHE~DTLH  ( ) ( ) ( )
BRI PER F A 60,474,804] A 4,427,246| A 1,007,434 0| A 65,909,484
AR ONERMBEESE | A 59,478,293 A 4,427,887 A 1,009,996 0| A 64,916,176

30




